n7yn a7 'oin 2,1y n"a 702

From the best of it and from the worst of it — 72w NYM2%MY AR NYTYN

Overview

Pr¥® 92 %11 27 concluded that the X092 means that the one who did not retract can
either receive the best of this designated field (when the 7212 retracted), or can give
the worst of this designated field (if the n?1? retracted). Mo explains why not
N2 (instead of N77w).

Moo responds to an anticipated question:
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And the reason he does not take the 73w 12 (instead of the 7aw no7y), is
because the o°n2r1 fined the one who retracted —

maon responds to the anticipated difficulty:?
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However, initially the X723 asked that it is not logical that we should give him
such a large fine and allow the 1?1 to receive the n>1°y of his other properties!

Summary
We must limit fines so that they are reasonable.

Thinking it over
1. mpon assumes that were it not for the 01p, the ™% would receive nona.*
However in a case where one said, ‘I will sell you half this field’, he can give the

nP» the N M2°1. How do we distinguish between these two cases?’

2. Is mooIn initial question (N°113°27 °pWw X927 87Y), in a case where the 75w retraced,
the n?17 retracted, or in either case?

!'In case where the 7om retracted, why do we say that the > receives N7’y (worth two hundred 111), it would seem
more appropriate that he receives n111°a (worth two hundred 7). This would be the logical compromise between
what the n% wants (n°7°v) and what the 101 is willing to give (n°M2°1). See ‘Thinking it over’ # 1.

2 If the reason the MY receives N 7y, is because it is a fine, why was the X3 initially astonished that he will receive
1°031 957 n*7°Y perhaps that is the fine; why should we limit the fine?

3 Regarding the designated field, which the 1% would have received all of it, including the n>7v, had the 72 not
retracted, it is logical that we punish the 19w, so the n? receives something which he could have had. However, the
Y2 has no claim at all on 1°0212w n*7°y, so it is illogical that should we fine the 75w to such an extreme.

4 See footnote # 2.

5 See TN woN TR # 26.
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